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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA  

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 

uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 
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1. What is meant by Service Sector ? What are the causes 

of its extraordinary growth in recent times ? 

lsok {ks= ls D;k rkRi;Z gS \ gky ds fnuksa esa bldh 

vlk/kkj.k izxfr ds dkSu&ls dkj.k gSa \ 

2. “The present state of rural development in India is far 

for satisfactory.” Do you agree ? Suggest a suitable 

strategy for the purpose.  

ßHkkjr ds xzkeh.k fodkl dh orZeku fLFkfr lUrks”ktud ugha 

gSAÞ D;k vki blls lger gSa \ bl mn~ns’; ds fy, fdlh 

mi;qDr j.kuhfr dk lq>ko nhft,A  

3. What is MNREGA ? Discuss the role of MNREGA in 

rural development and employment in India.  

eujsxk D;k gS \ Hkkjr esa xzkeh.k fodkl ,oa jkstxkj esa 

eujsxk dh Hkwfedk dks le>kb,A  

4. Discuss various sources of agricultural finance of 

Rural India. Explain the role of NABARD in the field 

of rural credit.  

xzkeh.k Hkkjr ds d`f”k foŸk ds fofHkUu lzksrksa dh foospuk 

dhft,A xzkeh.k lk[k ds {ks= esa ukckMZ (NABARD) dh 

Hkwfedk dh O;k[;k dhft,A  

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only.  
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uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA  

1. Explain the main characteristics of present Industrial 

Policy in India.  

Hkkjr dh orZeku vkS|ksfxd uhfr dh eq[; fo’ks”krkvksa dk 

mYys[k dhft,A  

2. Describe the problems of small and colltage industries.  

y?kq ,oa dqVhj m|ksxksa dh leL;kvksa dk o.kZu dhft,A  

3. Discuss the functions of World Trade Organisation.  

fo’o O;kikj laxBu ds dk;ksZa dh foospuk dhft,A  

4. Explain the advantages of White Revolution.  

‘osr ØkfUr ds ykHkksa dh O;k[;k dhft,A  

5. Evaluate the present population policy in India.  

Hkkjr dk orZeku tula[;k uhfr dk ewY;kadu dhft,A  

6. Explain the merits and demerits of Globalisation in 

India.  

Hkkjr esa oS’ohdj.k ds xq.k ,oa nks”kksa dk mYys[k dhft,A  

7. Explain the resources of rural finance.  

xzkeh.k foŸk ds lalk/kuksa dk mYys[k dhft,A  

8. Discuss the role of agriculture in Indian economy.  

Hkkjrh; vFkZO;oLFkk esa d`f”k dh Hkwfedk dk mYys[k dhft,A  
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Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Choose the correct alternative : 

lgh fodYi pqfu, %   

1. Indian economy is :  

(a) Mixed economy  

(b) Capitalist economy  

(c) Dual economy  

(d) Socialist economy  

Hkkjrh; vFkZO;oLFkk gS % 

¼v½ fefJr vFkZO;oLFkk 

¼c½ iw¡thoknh vFkZO;oLFkk 

¼l½ nksgjh vFkZO;oLFkk 

¼n½ lektoknh vFkZO;oLFkk 

2. From which country India adopted the five year plans ?  

(a) U.S.S.R.  

(b) U.S.A. 

(c) Australia  

(d) Germany  
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Hkkjr us fdl ns’k ls iapo”khZ; ;kstukvksa dks viuk;k gS \ 

¼v½ ;w- ,l- ,l- vkj- 

¼c½ ;w- ,l- ,- 

¼l½ vkWLVªsfy;k  

¼n½ teZuh  

3. Which of the following is not an Indirect Tax ?  

(a) Excise Duty  

(b) Sales Tax  

(c) Income Tax  

(d) VAT  

fuEufyf[kr esa ls dkSu lk vizR;{k dj ugha gS \ 

¼v½ mRikn ‘kqYd  

¼c½ fcØh dj  

¼l½ vk;dj  

¼n½ oSV  

4. When were the Regional Rural Banks established ?  

(a) 1975 

(b) 1980 

(c) 1982 

(d) 1990 

{ks=h; xzkeh.k cSad dh LFkkiuk dc gqbZ \ 

¼v½ 1975 

¼c½ 1980 

¼l½ 1982 

¼n½ 1990 
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5. What is the effect of deficit financing ? 

(a) Deflation  

(b) Recession  

(c) Inflation  

(d) Depression  

?kkVs dh foŸk O;oLFkk dk D;k izHkko gksrk gS \ 

¼v½ viLQhfr 

¼c½ eanh 

¼l½ eqnzkLQhfr 

¼n½ volkn 

6. Which bank provides financial assistance for export 

and import ?  

(a) RBI 

(b) NABARD  

(c) EXIM 

(d) SIDMI 

dkSu&lk cSad vk;kr&fu;kZr gsrq foŸkh; lgk;rk nsrk gS \ 

¼v½ vkj- ch- vkbZ- 

¼c½ ukckMZ  

¼l½ ,fXte 

¼n½ ,l- vkbZ- Mh- ,e- vkbZ- ¼flMeh½ 

7. Who introduced the concept of five year plans in  

India ? 

(a) Lal Bahadur Shastri  
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(b) Jawahar Lal Nehru  

(c) Lord Mountbatten  

(d) Indira Gandhi  

Hkkjr eas iapo”khZ; ;kstukvksa dh vo/kkj.kk fdlus izkjEHk 

dh \ 

¼v½ yky cgknqj ‘kkL=h 

¼c½ tokgj yky usg: 

¼l½ ykWMZ ekmaVcsVu 

¼n½ bfUnjk xk¡/kh  

8. Fiscal policy in India is formulated by :  

(a) RBI 

(b) The Planning Commission  

(c) The Finance Ministry  

(d) SEBI 

Hkkjr esa jktdks”kh; uhfr cukrk gS % 

¼v½ vkj- ch- vkbZ- 

¼c½ ;kstuk vk;ksx 

¼l½ foŸk eU=ky;  

¼n½ lsch  

9. Economic development does not depend on :  

(a) Natural Resources  

(b) Capital Formation  

(c) Size of Market  

(d) Size of the population  
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vkfFkZd fodkl fuEu esa ls fdl ij fuHkZj ugha djrk gS \ 

¼v½ izkd`frd lalk/kuksa  

¼c½ iw¡th fuekZ.k  

¼l½ cktkj ds vkdkj  

¼n½ tula[;k ds vkdkj 

10. Which industry employs the largest number of women 

in India ?  

(a) Tea  

(b) Textile  

(c) Jute  

(d) Coal  

Hkkjr esa vf/kdre efgykvksa dks fdl m|ksx us jkstxkj fn;k 

gS \ 

¼v½ pk; 

¼c½ diM+k 

¼l½ twV  

¼n½ dks;yk  
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